

ON THE SMOOTHNESS OF GENERALIZED SOLUTION FOR PARABOLIC SYSTEM IN DOMAINS WITH CONIC POINTS ON BOUNDARY

ПРО ГЛАДКІСТЬ УЗАГАЛЬНЕНОГО РОЗВ'ЯЗКУ ПАРАБОЛІЧНОЇ СИСТЕМИ В ОБЛАСТЯХ З КОНІЧНИМИ ТОЧКАМИ НА МЕЖІ

We consider the first initial boundary-value problems for parabolic systems in domains with conic points on a boundary. We study the smoothness of their solutions with respect to spatial variables.

Досліджуються перші початково-крайові задачі для параболічних систем в областях з конічними точками на межі. Вивчається гладкість їх розв'язків відносно часових змінних.

1. Introduction. At present, the boundary-value problems for elliptic equations in domains with nonsmooth boundary are completely studied. The general problems in multimeasured domains with a finite number of conic points on boundary were considered in detail in [1], where the Noether theorems were proved.

In domains with smooth boundary, the nonstationary problems also were considered by many authors. In [2, 3], the unique solvability of boundary-value problems for parabolic equations was established and was shown that if the right-hand side, the initial and the boundary functions are infinitely differentiable, then the solution is also infinitely differentiable.

In this paper, we consider the first initial boundary-value problems for parabolic systems in domains with conic points on a boundary. We study the smoothness of the solutions with respect to spatial variables.

2. Notations. Let Ω be a bounded domain in the space \mathbb{R}^n . The boundary $\partial\Omega$ of Ω is assumed to be an infinitely differentiable surface everywhere except the coordinate origin, in the neighborhood of which $\partial\Omega$ coincides with the cone

$$K = \left\{ x : \frac{x}{|x|} \in G \right\},$$

where G is a smooth domain on a unit sphere. Let Ω_T denote a cylinder $\Omega \times [0, T)$, $0 \leq T < \infty$, $H^{l,k}(\Omega_T)$ denote a space consisting of $u = (u_1, \dots, u_s)$ from $L_2(\Omega_T)$, which have the generalized derivatives up to order l with respect to x and up to order k with respect to t belonging to $L_2(\Omega_T)$. The norm in this space is defined as follows:

$$\|u\|_{H^{l,k}(\Omega_T)} = \left(\int_{\Omega_T} \sum_{|\alpha|=0}^l |D^\alpha u|^2 dx dt + \int_{\Omega_T} \sum_{j=1}^k |u_{t^j}|^2 dx dt \right)^{1/2}.$$

Let $\overset{\circ}{H}{}^{l,k}(\Omega_T)$ be the closure in $H^{l,k}(\Omega_T)$ of the set consisting of all functions which are infinitely differentiable in Ω_T and vanish near $S_T = \partial\Omega \times [0, T)$.

Let $H^{l,k}(e^{-\gamma t}, \Omega_\infty)$ be the space consisting all functions $u(x, t)$ satisfying

$$\|u\|_{H^{l,k}(e^{-\gamma t}, \Omega_\infty)} = \left[\int_{\Omega_\infty} \left(\sum_{|\alpha|=0}^l |D^\alpha u|^2 + \sum_{j=1}^k |u_{t^j}|^2 \right) e^{-2\gamma t} dx dt \right]^{1/2}.$$

In the same way as above, define $\overset{\circ}{H}{}^{l,k}(e^{-\gamma t}, \Omega_\infty)$. Denote by $H_\beta^{l,k}(\Omega_T)$ the space consisting of all functions $u(x, t)$ satisfying

$$\|u\|_{H_{\beta}^{l,k}(\Omega_T)}^2 = \left[\int_{\Omega_T} \left(\sum_{|\alpha|=0}^l r^{2(\beta+|\alpha|-l)} |D^{\alpha}u|^2 + \sum_{j=0}^k |u_{t^j}|^2 \right) dx dt \right]^{1/2}.$$

Denote by $H_{\beta}^l(\Omega_T)$ the space consisting of all functions $u(x, t)$ satisfying

$$\|u\|_{H_{\beta}^l(\Omega_T)} = \left[\int_{\Omega_T} \sum_{|\alpha|+j=0}^l r^{2(\beta+|\alpha|+j-l)} |D^{\alpha}u_{t^j}|^2 dx dt \right]^{1/2}.$$

We define the spaces $H_{\beta}^{l,k}(e^{-\gamma t}, \Omega_{\infty})$, $H_{\beta}^l(e^{-\gamma t}, \Omega_{\infty})$ by analogy with the definition of $H^{l,k}(e^{-\gamma t}, \Omega_{\infty})$.

In Ω_{∞} , we consider the first initial boundary-value problem for the following system:

$$(-1)^m \left[\sum_{|p|,|q|=1}^m D^p a_{pq}(x, t) D^q u + \sum_{|p|=1}^m a_p(x, t) D^p u + a(x, t) u \right] - u_t = f(x, t). \quad (2.1)$$

Here, a_{pq} , a_p , a are infinitely differentiable and bounded complex-value matrices $s \times s$, $a_{pq} = (-1)^{|p|+|q|} a_{pq}^*$, a_{pq} , $|p| = |q| = m$, are uniformly continuous in $\overline{\Omega_{\infty}} = \overline{\Omega} \times [0, \infty)$.

We assume that the considered system (2.1) are strongly parabolic, i.e., for each $\xi \in \mathbb{R}^n \setminus \{0\}$ and $\eta \in \mathbb{C}^n \setminus \{0\}$,

$$\sum_{|p|=|q|=m} a_{pq}(x, t) \xi^p \xi^q \eta \bar{\eta} \geq \mu_0 |\xi|^{2m} |\eta|^2, \quad (x, t) \in \overline{\Omega_{\infty}}, \quad (2.2)$$

where $\xi^p = \xi_1^{p_1} \dots \xi_n^{p_n}$, μ_0 is a positive constant.

The function $u(x, t)$ is called a generalized solution of the first initial boundary-value problem for system (2.1) in the space $\dot{H}^{m,1}(e^{-\gamma t}, \Omega_{\infty})$ if $u(x, 0) = 0$ and we have

$$\int_{\Omega_T} \left[-u_t \bar{\eta} + \sum_{|p|,|q|=1}^m (-1)^{m-1+|p|} a_{pq} D^q u \overline{D^p \eta} + \sum_{|p|=1}^m (-1)^{m-1} a_p D^p u \bar{\eta} + (-1)^{m-1} a u \bar{\eta} \right] dx dt = \int_{\Omega_T} f \bar{\eta} dx dt \quad (2.3)$$

for each $T > 0$ and all functions $\eta \in \dot{H}^{m,1}(\Omega_T)$ satisfying $\eta(x, T) = 0$.

3. Main results. The following result can be obtained on the basis of Galerkin's method (see analogous proof for the hyperbolic case with finite cylinders in [4]).

Theorem 3.1 (smoothness with respect to temporary variable). *Suppose that*

$$\left| \frac{\partial^k a_{pq}}{\partial t^k}, \frac{\partial^{k-1} a_p}{\partial t^{k-1}}, \frac{\partial^{k-1} a}{\partial t^{k-1}} \right| \leq \mu,$$

where $1 \leq |p|, |q| \leq m$, $k \leq h + 1$, $\mu = \text{const} > 0$, $(x, T) \in \overline{\Omega_{\infty}}$. Then there exist the positive constants γ_k , $0 \leq k \leq h$, such that if $f_{t^k} \in L^{\infty}(0, \infty; L_2(\Omega))$, $f_{t^k}(x, 0) = 0$, $0 \leq k \leq h$, the generalized solution $u(x, t)$ of the first boundary-value problem for the system (2.1) exists in the space $\dot{H}^{m,1}(e^{-\gamma t}, \Omega_{\infty})$, where $\gamma = \gamma_0$, and possesses the derivatives with respect to t of all orders $k \leq h$. Moreover, the following inequality is true:

$$\|u_{t,h}\|_{H^{m,1}(e^{-\gamma h^t}, \Omega_\infty)}^2 \leq C \sum_{k=0}^j \|f_{t,k}\|_{L^\infty(0,\infty;L_2(\Omega))},$$

where the positive constant does not depend on u and f .

We now consider some results on the smoothness with respect to spatial variables

Lemma 3.1. *If $f, f_t \in L^\infty(0, \infty; L_2(\Omega))$, $f(x, 0) = 0$, $f_t(x, 0) = 0$ $u(x, t) \in H^{m,1}(e^{-\gamma t}, \Omega_\infty)$ is a generalized solution of problem (2.1) such that $u \in H^{2m,1}(e^{-\gamma t}, K_\infty)$ whenever $|x| > R = \text{const}$, then $u \in H_m^{2m,1}(e^{-\gamma t}, K_\infty)$ and*

$$\|u\|_{H_m^{2m,1}(e^{-\gamma t}, K_\infty)}^2 \leq C [\|f\|_{L^\infty(0,\infty;L_2(K))} + \|f_t\|_{L^\infty(0,\infty;L_2(K))}^2],$$

where $C = \text{const}$ is independent of u, f .

Proof. Rewrite system (2.1) in the form

$$\sum_{|\alpha| \leq 2m} b_\alpha(x, t) D^\alpha u = F,$$

where $u_t + f = F$. It follows from Theorem 3.1 that $F \in L^\infty(0, \infty; L_2(K))$.

We consider the sequence of domains Ω^k

$$\Omega^k = \{x | x \in K, 2^{-k} \leq |x| \leq 2^{-k+1}\}, \quad k = 1, 2, \dots$$

From theorems on smoothness of a solution of elliptic systems inside the domain and in the neighbourhood of a smooth piece of boundary [5], we obtain

$$\int_{\Omega^2} |D^\alpha u(x, t)|^2 dx \leq C \int_{\Omega^1 \cup \Omega^2 \cup \Omega^3} (|F(x, t)|^2 + |u(x, t)|^2) dx, \quad (3.1)$$

$$|\alpha| \leq 2m, \quad C = \text{const}.$$

In (3.1), we perform the substitution $x = \left(\frac{4}{2^{k_1}}\right) x'$ for $k_1 > 2$ and then apply estimate (3.2). As a result, we have

$$\int_{\Omega^2} |D_x^\alpha u(x', t)|^2 dx' \leq$$

$$\leq C_1 \int_{\Omega^1 \cup \Omega^2 \cup \Omega^3} \left(|F(x', t)|^2 \left(\frac{4}{2^{k_1}}\right)^{4m} + |u(x', t)|^2 \right) dx', \quad C_1 = \text{const}.$$

By returning to variables x_1, \dots, x_n , we obtain

$$\int_{\Omega^{k_1}} |D^\alpha u(x, t)|^2 r^{2(|\alpha|-m)} dx \leq$$

$$\leq C_2 \int_{\Omega^{k_1-1} \cup \Omega^{k_1} \cup \Omega^{k_1+1}} (|F(x, t)|^2 r^{2m} + r^{-2m} |u(x, t)|^2) dx, \quad C_2 = \text{const}.$$

After summing up these inequalities with respect to all $k_1 > 2$, we arrive at inequality

$$\int_{\sum_{k>2} \Omega^k} |D^\alpha u(x, t)|^2 r^{2(|\alpha|-m)} dx \leq$$

$$\leq C_3 \int_{\sum_{k>1} \Omega^k} (|F(x, t)|^2 r^{2m} + r^{-2m} |u(x, t)|^2) dx, \quad C_3 = \text{const}. \quad (3.2)$$

Since the solution is smooth outside the neighbourhood of a conic point, inequality (3.3) implies

$$\begin{aligned} & \int_K |D^\alpha u(x, t)|^2 r^{2(|\alpha|-m)} dx \leq \\ & \leq C_4 \int_K (|F(x, t)|^2 r^{2m} + r^{-2m} |u(x, t)|^2) dx, \quad C_4 = \text{const.} \end{aligned} \quad (3.4)$$

The conditions $D_\nu^j u|_{S_\infty} = 0$, $j = 0, 1, \dots, m-1$, yield the estimate

$$\int_K r^{-2m} |u(x, t)|^2 dx \leq C_5 \sum_{|\beta|=m} \int_K |D^\beta u|^2 dx, \quad C_5 = \text{const.}$$

This and (3.4) imply

$$\begin{aligned} & \int_K r^{2(|\alpha|-m)} |D^\alpha u(x, t)|^2 dx \leq \\ & \leq C_6 \int_K (|f|^2 + |u_t|^2 + \sum_{|\beta|=m} |D^\beta u|^2) dx, \quad C_6 = \text{const.} \end{aligned}$$

By integrating this inequality by t from 0 to ∞ after multiplying its both sides with respect to $e^{-2\gamma t}$, we obtain

$$\begin{aligned} & \int_{K_\infty} r^{2(|\alpha|-m)} |D^\alpha u(x, t)|^2 e^{-2\gamma t} dx dt \leq \\ & \leq C_6 \int_{K_\infty} (|f|^2 + |u_t|^2 + \sum_{|\beta|=m} |D^\beta u|^2) e^{-2\gamma t} dx dt. \end{aligned} \quad (3.5)$$

By virtue of Theorem 3.1, inequality (3.5) implies the statement of Lemma 3.1. This lemma is proved.

Let ω be a local coordinate system on S^{n-1} . We can represent the main part of operator L at origin 0 in the form

$$L_0(0, t, D) = \tau^{-2m} Q(\omega, t, \tau D_\tau, D_\omega), \quad D_\tau = \frac{i\partial}{\partial \tau}.$$

Hence, the following spectral problem is of great importance:

$$Q(\omega, t, \lambda, D_\omega) v(\omega) = 0, \quad \omega \in G, \quad (3.6)$$

$$D_\omega^j v(\omega) = 0, \quad \omega \in \partial G, \quad j = 0, 1, \dots, m-1. \quad (3.7)$$

We prove the following theorem.

Theorem 3.2. *Let $u(x, t)$ be the generalized solution of problem (2.1) such that $u \equiv 0$ for $|x| > R = \text{const}$ and let $f_{l,k} \in L^\infty(0, \infty; L_2(K))$, $f_{l,k}(x, 0) = 0$ for $k \leq 2m$. In addition, suppose that the stripe*

$$m - \frac{n}{2} \leq \text{Im} \lambda \leq 2m - \frac{n}{2}$$

does not contain points of spectrum of problem (3.6), (3.7) for every $t \in [0, \infty)$. Then $u(x, t) \in H_0^{2m}(e^{-\gamma 2mt}, K_\infty)$ and the following inequality is true:

$$\|u\|_{H_0^{2m}(e^{-\gamma 2mt}, K_\infty)}^2 \leq C \sum_{k=0}^{2m} \|f_{l,k}\|_{L^\infty(0, \infty; L_2(K))}, \quad C = \text{const.}$$

Proof. First, we prove the inequality

$$\|u_{t^s}\|_{H_0^{2m,0}(e^{-\gamma t}, K_\infty)}^2 \leq C \sum_{k=0}^{2m} \|f_{t^k}\|_{L^\infty(0,\infty;L_2(K))}^2, \quad C = \text{const}, \quad s \leq 2m. \quad (3.8)$$

It follows from (3.1) that

$$(-1)^{m-1} L_0(0, t, D)u = F(x, t), \quad (3.9)$$

where $F(x, t) = u_t + f + (-1)^{m-1} [L_0(0, t, D) - L(x, t, D)]u$. Theorem 3.1 and Lemma 3.1 imply that $F(x, t) \in H_{m-1}^{0,0}(e^{-\gamma t}, K_\infty)$. Therefore, $F(x, t) \in H_{m-1}^0(e^{-\gamma t}, K_\infty)$ for almost every $t \in [0, \infty)$. On the other hand, in the stripe $m - \frac{n}{2} \leq \text{Im } \lambda \leq m + 1 - \frac{n}{2}$, there are no points of spectrum of problem (3.6), (3.7) for every $t \in [0, \infty)$. So, the results of elliptic problem [6] imply that, for almost every $t \in [0, \infty)$, $u \in H_{m-1}^{2m}(e^{-\gamma 2m t}, K_\infty)$ and

$$\|u\|_{H_{m-1}^{2m}(e^{-\gamma 2m t}, K_\infty)}^2 \leq C [\|f\|_{L^\infty(0,\infty;L_2(K))}^2 + \|u_t\|_{L^\infty(0,\infty;L_2(K))}^2], \quad C = \text{const}.$$

The repeating arguments conducted above lead to the inequality

$$\|u\|_{H_0^{2m}(e^{-\gamma 2m t}, K_\infty)}^2 \leq C [\|f\|_{L^\infty(0,\infty;L_2(K))}^2 + \|u_t\|_{L^\infty(0,\infty;L_2(K))}^2]$$

and, moreover, to the inequality

$$\|u\|_{H_0^{2m,0}(e^{-\gamma t}, K_\infty)}^2 \leq C [\|f\|_{L^\infty(0,\infty;L_2(K))}^2 + \|u_t\|_{L^\infty(0,\infty;L_2(K))}^2].$$

This and Theorem 3.1 imply

$$\|u\|_{H_0^{2m,0}(e^{-\gamma t}, K_\infty)}^2 \leq C [\|f\|_{L^\infty(0,\infty;L_2(K))}^2 + \|f_t\|_{L^\infty(0,\infty;L_2(K))}^2],$$

i.e., (3.8) is proved for $s = 0$.

Assume that (3.8) is true for $s - 1$. We differentiate system (2.1) s times with respect to t and put $v = u_{t^s}$.

As a result, we obtain

$$(-1)^{m-1} L v = v_t + f_{t^s} + (-1)^m \sum_{k=1}^s \binom{s}{k} L_{t^k} u_{t^{s-k}}, \quad (3.10)$$

where

$$L_{t^k} = \sum_{|p|,|q|=1}^m D^p \frac{\partial^k a_{pq}}{\partial t^k} D^q + \sum_{|p|=1}^m \frac{\partial^k a_p}{\partial t^k} D^p + \frac{\partial^k a}{\partial t^k}.$$

From induction assumption and from arguments that are analogous to the case $s = 0$, we obtain (3.8).

Since

$$\|u\|_{H_0^{2m}(e^{-2\gamma m t}, K_\infty)}^2 \leq \sum_{s=0}^{2m-1} \|u_{t^s}\|_{H_0^{2m,0}(e^{-\gamma t}, K_\infty)}^2 + \|u_{t^{2m}}\|_{H_0^{0,0}(e^{-\gamma t}, K_\infty)}^2,$$

the confirmation of theorem follows from (3.8) and Theorem 3.1. Theorem 3.2 is proved.

We now consider the Dirichlet problem for the system

$$(-1)^{m-1} L_0(0, t, D)u = F(x, t), \quad x \in K. \quad (3.11)$$

Lemma 3.2. *Let $u(x, t)$ be the generalized solution of Dirichlet problem for (3.11) for almost every $t \in [0, \infty)$ such that $u \equiv 0$ in the case where $|x| > R =$*

= const, and let $u(x, t) \in H_{\beta-1}^{2m+l-1,0}(e^{-\gamma t}, K_{\infty})$. Let, besides that, $F \in H_{\beta}^{l,0}(e^{-\gamma t}, K_{\infty})$. Then $u(x, t) \in H_{\beta}^{2m+l,0}(e^{-\gamma t}, K_{\infty})$ and

$$\|u\|_{H_{\beta}^{2m+l,0}(e^{-\gamma t}, K_{\infty})}^2 \leq C \left[\|F\|_{H_{\beta}^{l,0}(e^{-\gamma t}, K_{\infty})}^2 + \|u\|_{H_{\beta}^{2m+l-1,0}(e^{-\gamma t}, K_{\infty})}^2 \right],$$

where $C = \text{const}$.

Proof. It is well-known [5] that

$$\int_{\Omega^2} |D^{\mu} u(x, t)|^2 dx \leq C \int_{\Omega^1 \cup \Omega^2 \cup \Omega^3} \left(\sum_{|\alpha| \leq l} |D^{\alpha} F(x, t)|^2 + |u(x, t)|^2 \right) dx, \\ |\mu| \leq 2m + l,$$

where $\Omega^1, \Omega^2, \Omega^3$ are the same as in Lemma 3.1, $C = \text{const}$. From this inequality and from arguments analogous to the proof of inequality (3.3), we obtain

$$\int_K r^{2\beta} |D^{\mu} u(x, t)|^2 dx \leq \\ \leq C \int_K \left(\sum_{|\alpha| \leq l} r^{2(\beta+|\alpha|-l)} |D^{\alpha} F(x, t)|^2 + r^{2(\beta-2m-l)} |u(x, t)|^2 \right) dx.$$

After integrating this inequality with respect to t from 0 to ∞ , we obtain

$$\int_{K_{\infty}} e^{-2\gamma t} r^{2\beta} |D^{\mu} u(x, t)|^2 dx dt \leq \\ \leq C \left[\|F\|_{H_{\beta}^{l,0}(e^{-\gamma t}, K_{\infty})}^2 + \int_{K_{\infty}} e^{-2\gamma t} r^{2(\beta-2m-l)} |u(x, t)|^2 dx dt \right] \leq \\ \leq C \left[\|F\|_{H_{\beta}^{l,0}(e^{-\gamma t}, K_{\infty})}^2 + \|u\|_{H_{\beta-1}^{2m+l-1,0}(e^{-\gamma t}, K_{\infty})}^2 \right]. \quad (3.12)$$

We have

$$\|u\|_{H_{\beta}^{2m+l,0}(e^{-\gamma t}, K_{\infty})}^2 = \\ = \sum_{|\mu|=2m+l} \int_{K_{\infty}} e^{-2\gamma t} r^{2\beta} |D^{\mu} u(x, t)|^2 dx dt + \|u\|_{H_{\beta-1}^{2m+l-1,0}(e^{-\gamma t}, K_{\infty})}^2.$$

This and (3.12) yield the statement of lemma. Lemma 3.2 is proved.

Theorem 3.3. Let $f_{jk} \in L^{\infty}(0, \infty; L_2(K))$, $f_{jk}(x, 0) = 0$ for $k \leq l + 2m$, and let $u(x, t)$ be the generalized solution of problem (2.1) such that $u \equiv 0$ for $|x| > R = \text{const}$. In addition, we suppose that, in the stripe

$$m - \frac{n}{2} \leq \text{Im} \lambda \leq 2m + l - \frac{n}{2},$$

there are no points of spectrum of problem (3.6), (3.7) for every $t \in [0, \infty)$. Then $u(x, t) \in H_0^{2m+l}(e^{-\gamma 2m+l t}, K_{\infty})$ and the following inequality holds:

$$\|u\|_{H_0^{2m+l}(e^{-\gamma 2m+l t}, K_{\infty})}^2 \leq C \sum_{k=0}^{2m+l} \|f_{jk}\|_{L^{\infty}(0, \infty; L_2(K))}^2, \quad C = \text{const}.$$

Proof. The theorem will be proved by induction on l . For $l = 0$, the statement of theorem follows from Theorem 3.2. Let this statement be true with substitution of l by $l-1$.

We prove the inequality

$$\|u_{t^s}\|_{H_0^{2m+l-s}(e^{-\gamma_{2m+l-s}t}, K_\infty)}^2 \leq C \sum_{k=0}^{2m+l} \|f_{t^k}\|_{L^\infty(0,\infty;L_2(K))} \quad (3.13)$$

for $s = l, l-1, \dots, 0$, where $C = \text{const}$.

Since $f_{t^k} \in L^\infty(0, \infty; L_2(K))$, $f_{t^k}(x, 0) = 0$ for $k \leq l + 2m - 1$, we obtain from Theorem 3.1 that $u_{t^{l+1}} \in H_0^{0,0}(e^{-\gamma^l}, K_\infty)$. This and arguments analogous to the proof of Theorem 3.1 yield inequality (3.13) for $s = l$.

Assume that (3.13) is true for $s = l, l-1, \dots, j+1$. Put $v = u_{t^j}$. From (3.10) it follows that

$$(-1)^{m-1}Lv = F_j, \quad (3.14)$$

where

$$F_j = v_t + f_{t^j} + (-1)^m \sum_{k=1}^j \binom{j}{k} L_{t^k} u_{t^{j-k}}.$$

By virtue of induction hypothesis with respect to l , we obtain

$$\sum_{k=1}^j \binom{j}{k} L_{t^k} u_{t^{j-k}} \in H_0^{l-j}(e^{-\gamma^{l-j}t}, K_\infty).$$

On the other hand, in view of induction assumption with respect to s , we have $v_t \in H_0^{l-j}(e^{-\gamma^{l-j}t}, K_\infty)$. Therefore, $F_j \in H_0^{l-j}(e^{-\gamma^{l-j}t}, K_\infty)$. Since

$$H_0^{l-j}(e^{-\gamma^{l-j}t}, K_\infty) \subseteq H_{-1}^{l-j-1,0}(e^{-\gamma^l}, K_\infty),$$

we have $F_j \in H_{-1}^{l-j-1,0}(e^{-\gamma^l}, K_\infty)$.

By repeating the arguments analogous to the proof of Theorem 3.1, we obtain that

$$v \in H_{-1}^{2m+l-j-1,0}(e^{-\gamma^l}, K_\infty).$$

This and Lemma 3.2 imply

$$u_{t^j} = v \in H_0^{2m+l-j,0}(e^{-\gamma^l}, K_\infty),$$

$$\|u_{t^j}\|_{H_0^{2m+l-j,0}(e^{-\gamma^l}, K_\infty)}^2 \leq C \sum_{k=0}^{2m+l} \|f_{t^k}\|_{L^\infty(0,\infty;L_2(K))}^2, \quad C = \text{const}. \quad (3.15)$$

We have

$$\begin{aligned} \|u_{t^j}\|_{H_0^{2m+l-j}(e^{-\gamma_{2m+l-j}t}, K_\infty)}^2 &\leq \|u_{t^{j+1}}\|_{H_0^{2m+l-j-1}(e^{-\gamma_{2m+l-j+1}t}, K_\infty)}^2 + \\ &+ \|u_{t^j}\|_{H_0^{2m+l-j,0}(e^{-\gamma^l}, K_\infty)}^2. \end{aligned} \quad (3.16)$$

By virtue of induction hypothesis with respect to s , it follows from (3.13) that

$$\|u_{t^{j+1}}\|_{H_0^{2m+l-j-1}(e^{-\gamma_{2m+l-j-1}t}, K_\infty)}^2 \leq C \sum_{k=0}^{2m+l} \|f_{t^k}\|_{L^\infty(0,\infty;L_2(K))}^2, \quad C = \text{const}.$$

This and (3.15), (3.16) yield the inequality

$$\|u_{t^j}\|_{H_0^{2m+l-j}(e^{-\gamma_{2m+l-j}t}, K_\infty)}^2 \leq C \sum_{k=0}^{2m+l} \|f_{t^k}\|_{L^\infty(0,\infty;L_2(K))}^2, \quad C = \text{const}.$$

We obtain the statement of theorem for $j = 0$.

Consider the theorem on the smoothness of generalized solution in domains with a conic point on boundary.

Theorem 3.4. *Let $u(x, t)$ be the generalized solution of problem (2.1) and let $f_{l,k} \in L^\infty(0, \infty; L_2(\Omega))$, $f_{l,k}(x, 0) = 0$ for $k \leq l + 2m$. In addition, we assume that*

$$m - \frac{n}{2} \leq \operatorname{Im} \lambda \leq l + 2m - \frac{n}{2}$$

does not contain the points of spectrum of problem (3.6), (3.7) for every $t \in [0, \infty)$. Then

$$u(x, t) \in H_0^{2m+l}(e^{-\gamma 2m+l t}, \Omega_\infty)$$

and the following inequality holds:

$$\|u\|_{H_0^{2m+l}(e^{-\gamma 2m+l t}, \Omega_\infty)}^2 \leq C \sum_{k=0}^{2m+l} \|f_{l,k}\|_{L^\infty(0, \infty; L_2(\Omega))}^2, \quad C = \text{const.}$$

Proof. We surround the point 0 by the neighbourhood U_0 with so small diameter that the intersection of Ω and U_0 coincides with K .

Consider the function $u_0 = \varphi_0 u$, where $\varphi_0 \in \overset{\circ}{C}^\infty(U_0)$ and $\varphi_0 \equiv 1$ in some neighbourhood of 0.

The function u_0 satisfies the system

$$(-1)^{m-1} L(x, t, D)u_0 - (u_0)_t = \varphi_0 f + L'(x, t, D)u,$$

where L' is a linear differential operator of order less than $2m$.

The coefficients of this operator depend on the choice of function φ_0 and equal 0 outside U_0 . This and arguments analogous to the proof of Theorem 3.3 imply

$$\|\varphi_0 u\|_{H_0^{2m+l}(e^{-\gamma 2m+l t}, \Omega_\infty)}^2 \leq C \sum_{k=0}^{2m+l} \|f_{l,k}\|_{L^\infty(0, \infty; L_2(\Omega))}^2. \quad (3.17)$$

The function $\varphi_1 u = (1 - \varphi_0)u$ equals 0 in the neighbourhood of the conic point. We can apply to this function the theorem on the smoothness of solution of elliptic problem in a smooth domain, from which it follows that $\varphi_1 u \in H_0^{2m+l}(e^{-\gamma 2m+l t}, \Omega)$. This and Theorem 3.1 yield the relations $\varphi_1 u \in H_0^{2m+l}(e^{-\gamma 2m+l t}, \Omega_\infty)$ and

$$\|\varphi_1 u\|_{H_0^{2m+l}(e^{-\gamma 2m+l t}, \Omega_\infty)}^2 \leq C \sum_{k=0}^{2m+l} \|f_{l,k}\|_{L^\infty(0, \infty; L_2(\Omega))}^2. \quad (3.18)$$

Since $u = \varphi_0 u + \varphi_1 u$, it follows from (3.17), (3.18) that

$$\|u\|_{H_0^{2m+l}(e^{-\gamma 2m+l t}, \Omega_\infty)}^2 \leq C \sum_{k=0}^{2m+l} \|f_{l,k}\|_{L^\infty(0, \infty; L_2(\Omega))}^2.$$

The theorem is proved.

1. Кондратьев В. А. Тр. Моск. маг. о-ва. — 1967. — Вып. 16. — С. 209 — 292.
2. Агранович М. С., Вишик М. И. Успехи мат. наук. — 1964. — 19. — С. 53 — 181.
3. Ильин А. М., Калашников А. С., Олейник О. А. Там же. — 1962. — 17. — С. 3 — 143.
4. Нгуен Мань Хунг. Мат. сб. — 1999. — 190. — С. 103 — 126.
5. Агмон С., Дуглис А., Ниренберг Л. Оценки вблизи границы решений эллиптических уравнений в частных производных с общими граничными условиями. — М.: Изд-во иностр. лит., 1962.
6. Мазья В. Г., Пламеневский В. А. Проблемы математического анализа. — 1977. — 7. — С. 85 — 145.

Received 09.09.2003